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FIRST YEAR HIGHER SECONDARY EXAMINATION, JUNE 2022

Part — [II Time : 2 Hours
COMPUTER APPLICATION Cool-offtime : 15 Minutes
(COMMERCE)

Maximum : 60 Scores
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General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

Answer any & questions from 1 to 7. Each carries 1 score. (5x1=3)
1.  AProcessed data is known as
2. Write the full form of DBMS.
3,  Runtime error occurs in stage of programming,

~ (Execution? Coding, Translation, Documentation)

4. Temary operator in C++1s
> If no match is found, the block in switch statement is executed.

(case, else, default, break)
6. Expand the term FTP.
7.  The protocol for internet communication is

PART - 11
Answer any 9 questions from 8 to 19. Each carries 2 scores. (Qx 2=18)

8.  Write MSD and LSD in the number (5876),,.

9. List any two input and output devices each.
10. Mention any two functions of Operating System.

11. Which are the types of documentation in programming ?

12.  Arrange the following fundamental data types in ascending order of memory size :
char, int, void, double |

13. Give the output of the following :
int a, b=b;
a=b++;
cout<<a<<’/ \t’<<b;
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PART - |
I 2™ 7 aeo ¢aloByemBIO3 agemole, 5 DERTIN DOMDo  Af)9}@)) .
I capod alla.. (3x1=5)
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DBMS-0ad anden @)ato ay$m)é:.

GBI 2RISOI@3 0MOOSO Ag)0B Mo,
(Execution, Coding, Translation, Documentation)

C++ o) asdmol 630a]60Qa @RyeM.
HAOQINO22M)o - eI OB @3, TUfla] avegQeagiee CETYOB8)
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(case, else, default, break)
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PART - 11
8 2@ 19 oo ¢aloseBelad agomerlens 9 Af)ERODIM DTNV af)$)®)d>.
2 ¢apod allao. 9x2=18)

(5876) 4 M Tuosuy@leOes MSD @) LSD W)o af)¥) D).

"BODBIENo VNE GDMBAI)T DaldHREMEBB)OSW)o, PNE BVGa)S DalDHOEMEINB)NSW)o
CalOV)D)B.
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GBSO GALIE: LOACTaH (B @ORBUB aBO@IONIOWIAT ?
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©QBBUB (¢330l 00
char, 1nt, void, double

©)06)$|0W)IMAUROS 3DG01)g MBI :

int a, b=5;

a=b++;

cout<<acs! \t"<<hb;
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14. What is cascading of I/O operators ? Give one example.
15. Define Nested If.
16. List the names of any two services on Internet.

17. Define the following terms :
(a) Cookies
(b) Firewall

18. Write any two e-learning tools.
19. What is EPS ? Give one example.

PART - 111 .
Answer any 9 questions from 20 to 32. Each carries 3 scores. . (9%x3=27)
70. Name 3 methods for representing an integer number in computer memory.

21. Draw a figure showing the functional units of a computer system.

22. Categorise the software given below into Operating System, Application Software and
Utility Program :

Linux, Tally, WinZip, MS-Word, Wmdows Open Office Calc
23. Draw any three flowchart symbols.
24. Whatis m:‘.;ant by token ? Name any two tokens in C++.
25.  Which are logical operators in C++?
26. Write 3 different methods to increment the value of variable x by 1.

27. Identify errors, if any, in the following :
$include<iostream>

using namespace;
int Main{()

{

int a,b,cC;
cin<<a>>b;
c=a%b;

cout<<c;

}
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I/0 @2qjc00® IV UoU) af)IMI@3 af)TME ? BD) PRIAOMENo (NB3)d.
Nested if midaualloe)d.
DRAOMGIOE! aBO®ENEI}o PENE CTVLAUMEMBNS Gal®)UD af)#3®)é:.

IO HBIS)INFES e MBI N0 :
(a) Cookies
(b) Firewall

ABODBICI)o AGNE gD-CEIMIoU) S)B)BHUD af) YD)
)6 gDAllag)MU? B0} RBIANDEMo MBI,

PART - III
20 2)@3 32 Ao Ca13Bglal ago®masleno 9 af)PROTIM 2OMBo )Y ®)db.
3 capod allaw. (9 x3=27)
SHMIYSA 6222013 B0) al)BeRTUE OV uclWlaaleammimes 3 dlolaud
af) ). -

80 @muRsd miquomlen (AT QMg @demleam &) all@o
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D69 MOBSIDIEleNM MLOALZHAURAIOM 80ajcoglow)” aulqyo, @R |G AN
cruoargeu@ad, @slefigl ¢nldWde o) MBBOHM DRI BIE) :
Linux, Tally, WinZip, MS-Word, Windows, Open Office Calc

ABODBIEI)o 2)TT CaGI2108F allamemyd AUOWHN).

CSOH9EMB af)INDOGIEE ag)ADIEM apdmoace)m® ? C++ @ gomeslens DETE
ESIHOENDHB)OS Gal® af) )]

C++ oe) cenellaamd 39oe0gd AgOmINaO@IE ?
50) couclwenilud x 6 aRely | cudaslafleemmaim '3 U@ TV Bl ) 3.

@060 0TI ADOMBIEe OO peaeBldl, @Al @ere)aliSlal

nf)¥ )@} -
#include<iostream>
using namspace;
int Main( )

{

int a,b,¢C7
cin<<a>>b;

c=a%b;

cout<<c;

}

P.T.0.
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28 Which are the three loops in C++ ?

20 (lassify the tollowing network based on the area covered :

(a)  Your home computer connected to a printer (1)
(by  Cable TV network 1n a city (1)
(¢)  Computer network at your school lab (1)
S0 (a)  Write the names of any two data terminal equipments. (1)
(b)  Write the uses of them. (2)

51, Wnite any three examples of various types of social media on Internet.

32.  Write names of any three ICT enabled services.
PART -1V
Answer any 2 questions from 33 to 36. Each carries 5 scores. (2x5=10)
53. Mhatis e-waste ? Mention 4 methods for e-waste disposal.

54. (a)  Define the following terms :

(1)  Algorithm (1)

(11) Translation (D

(i) Debugging (1)

(b)  Write two advantages of using flowchart. (2)

35. (a)  Wnte example for an exit controlled loop in C++. (1)
(b)  Write the four parts of a loop. (4)

36. (a)  What s the difference between router and gateway ? (2)
(b)  Wnite any three advantages of computer networks. (3)
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C++ o1 2)an ena iU ag@oem ?

OINNSIIM  (AICRWOHDTD  @RSITVOIMAISH IO |0 OHMQAIBHNGHOS
g
DRoDIRIAMS

(@)  MleMEeS cando HMIYA B0) (G020 enumwlaflafi@laeiam. (1)
(b) 80y mwoddee: ¢camilyd slall Ydoale) (1)
() mManges Va9 elomiloel HTUNSA UIosuel. (1)
(@) agoOmBIEo O AWIQ HSAATIM@3 Dald:OMMEBRNS GalD)DHUB Ag)9) DS (1)
(b) @PAUW)OS DaICWINEBUD af)PITN:. (2)

pdemgleas allallw @oeomlenss caLdaHyed AlleS16S aRO®Bee )M
OBIANDEMEBUD af)P)TND>.

ABOMBIENS BN Baf)TUIS] ag)eMeNNBAL GILAIMEBROS CalO}B:UB af) ).
PART -1V
33 2@ 36 AOO CalodiEBSIA ago®Blele 2 Af)GIRATIIM DTNV af)$}®} .
5§ capod allo.. (2x5=10)

a) N6 gD-CAUTY ? gD-cagy Mdamodearmamimas 4 AN Ud V) flaflen)d.

(a) @269 0D alBeRUd MBI 89D

(i) @RGICUNIBIDo (1)
(il) (SOMIUCEInHd (1)
(111) qﬁlmn&;’lom" (1)
(b) an‘@agacﬂg HalcOUTlenM@enng @ENE N)EMETNBUB af) 9 I (2)
(a) C++oel nmm}},aﬁmsauﬁw"mm}mgm DBRIANDEMo af)P)OND:. (1)
(b) &) enaflong 4 ROWEINUD )9 )TN, (4)
(a) 0)g0)0 CVQEAIW)o aDENBH AU LOTVo ag) N6 ? (2)
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